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ANNEX IV (EU) Regulation No. 626/2011

capacity

Trade mark |1-(a) - | AERMEC | AERMEC | AERMEC | AERMEC | AERMEC | AERMEC | AERMEC | AERMEC | AERMEC | AERMEC
ind SLG200W x 2 | SLG250W x2 | SLG200W x 3 | SLG250W x2 | SLG200W x4 | SLG250W x4 | SLG250W x 4
naoor - + SLG200W + SLG200W
Model name |1-(b)
Outdoor - MLG420 MLG520 MLG630 MLG730 MLG840 MLG1040 MLG1250
EU eco-label [1-(c) -
Indoor dB(A) 55 55 55 55 55 55 55
Sound Power 1-(d)
Level at Cooling
Outdoor dB(A) 65 65 68 68 68 70 70
Refrigerant  |1-(e)| GWP*! kgCO2eq.| 675 (R32) 675 (R32) 675 (R32) 675 (R32) 675 (R32) 675 (R32) 675 (R32)
SEER - 6.1 6.1 6.1 6.1 6.1 6.1 6.1
2-(a) —
Elggggy efficiency - At+ At+ At+ A+t At+ At+ At+
Cooling mode A —
nnual electricity
2-(D)| con sumption*? kWh/a 235 298 350 407 459 602 689
2-(c)| Design load kw 4.1 5.2 6.1 7.1 8.0 10.5 12.0
SCOP - 4.0 4.0 4.0 4.0 4.0 4.0 4.0
3-(a) = P
nergy efficiency )
class A+ A+ A+ A+ A+ A+ A+
Annual electricity
3-(b) consumption*? kWh/a 1330 1330 2135 2135 2520 3675 4130
Heating mode 3-(c) Other designated )
(Average) heating seasons
3-(d)| Design load kw 3.8 3.8 6.1 6.1 7.2 10.5 11.8
Declared capacity kw 35 35 5.8 5.5 6.7 8.0 9.0
3-(e) :
Back up heating kW 03 03 03 06 05 25 28
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*1

*2

EN

Refrigerant leakage contributes to climate change. Refrigerant with lower global warming potential (GWP) would contribute less to global warming than a refrigerant with higher GWP, if leaked to the atmosphere.
This appliance contains a refrigerant fluid with a GWP equal to 675. This means that if 1 kg of this refrigerant fluid would be leaked to the atmosphere, the impact on global warming would be 675 times higher than 1 kg of
CO2, overaperiod of 100 years. Never try to interfere with the refrigerant circuit yourself or disassemble the product yourself and always ask a professional.

Energy consumption "XYZ" kWh per 60minutes, based on standard
test results. Actual energy consumption will depend on how the
appliance is used and where itis located.

La perdita di refrigerante contribuisce al cambiamento climatico. In caso dirilascio nell'atmosfera, i refrigeranti con un potenziale di riscaldamento globale (GWP) piti basso contribuiscono in
misuraminore al riscaldamento globale rispetto a quelli con un GWP pitl elevato. Questo apparecchio contiene un fluido refrigerante con un GWP di 675. Se 1 kg di questo fluido refrigerante fosse rilasciato

Consumo di energia "XYZ" kWh/60minuti in base ai risultati di prove
standard. Il consumo effettivo dipende dalle modalita di utilizzo

IT | nell'atmosfera, quindi, I''mpatto sul riscaldamento globale sarebbe 675 volte pit elevato rispetto a 1 kg di CO2, per un periodo di 100 anni. In nessun caso |'utente deve dell hio e dall X HAR I
cercarediinterveniresulcircuitorefrigeranteodidisassemblareilprodotto.Incaso dinecessitaoccorresemprerivolgersiapersonalequalificato. elfapparecchio e dalluogoin cui¢ installato.
Alappor] YukTIkoU pécou aupBaAlel otnv KAIpaTiki aAayr). Edv Siappeloel 0TV atuoo@aipa WUKTIKO HETO HE XapnAdTEPO Suvapiko Bépuavong Tou TTAaviTn (GWP) Ba aupBaiel Aiydtepo aTtnv utrepBéppavon Tou | Katavahwon evépyeiag "XY Z" KWh/60 Aetrtd, pe Baon Ta amoteAéopara
TTAQVATN aTTd YUKTIKG Pe upnAoTEPO GWP.AUTH N OUCKEUN TTEPIEXEI YUKTIKG PéTo pe GWP igo pe 675. Auté onuaivel 0TI eGv dlappedoel oTnv aTpdo@aipa 1 kg Tou WukTikoU PECou, oI ETTITITWOEIG OTNV TPOTUTING dOKIAG. H TTpaypaTikr KatavaAwaon evépyelag eGapTtatal atéd
GR | utrepBéppavon Tou TTAavrTn Ba eival 675 @opég peyahutepeg amd 1 kg CO2, oe mepiodo 100 eTwv. [MoTé pnv ETTIXEIPAOETE VA ETTEPRETE OTO KUKAWUA Tov TPOTTO  XProNG Kal Tn B€0n TG OUOKEUNG.
WUKTIKOUPETOU VOATTOOUVOPHOAOYFTETETOTTPOIOVKAITIAVTOTEVAXTTEUBUVEDTE OEETTAYYEAUATIO.
Afugade fluido refrigerante contribui para as alteragdes climéaticas. Os fluidos refrigerantes com menor potencial de aquecimento global (PAG)contribuem menos para o aquecimento global do que os fluidos refrigerantes| Consumo de energia "XYZ" kWh/60 minutos, com base nos
com maior PAG, em caso de fuga para a atmosfera. Este aparelho contém um fluido refrigerante com um PAGigual a 675. Isto significa que, se ocorrer uma fuga de 1 kg deste fluido refrigerante para a resultados do teste normalizado. O valor real do consumo de energia
PT | atmosfera, o seu impacto no aquecimento global ser& 675 vezes mais elevado do que o de 1 kg de CO2, durante um periodo de 100 anos. dependera do modo de utilizacédo do aparelho e da sua localizagao.
Nuncatome ainiciativa de intervir no circuito dofluido refrigerante ou de desmontar este produto;recorrasempre aumprofissional.
Las fugas de refrigerante contribuyen al cambio climatico. Cuanto mayor sea el potencial de calentamiento global (GWP) de un refrigerante, mas contribuird a dicho calentamiento su vertido a la atmésfera. Este Consumo de energia "XYZ" kWh/60 minutos, segln los
aparato contiene un liquido refrigerante con un GWP igual a 675. Esto significa que, si pasara a la atmésfera 1 kg de este liquido refrigerante, el impacto en el calentamiento global seria, a lo largo de un periodo de resultados obtenidos en ensayos estandar. El consumo de energia real
ES | 100 afios, 675 veces mayor que si se vertiera 1 kg de CO2. Nunca intente intervenir en el circuito del refrigerante ni desmontar el aparatoustedmismo;consultesiempreaunprofesional. depende de las condiciones de uso del aparato y del lugar en el que esté
instalado.
Scurgerea de agent frigorific contribuie la schimbarile climatice. Daca s-ar scurge in atmosfera, agentii frigorifici cu un potential de incalzire globald (GWP) mai redus ar contribui intr-un mod mai putin semnificativ c d ie de "XYZ" KWh/60 de minut b tatel
la incélzirea globala decéat un agent frigorific cu un GWP mai ridicat. Acest aparat contine un fluid refrigerant cu un GWP egal cu 675. Aceasta inseamna ca, daca 1 kg din acest fluid refrigerant s-ar scurge in N o?slum 1e znedrglg € | real d € minu 3’ pe daz;\ rezud 5: z or
RO | atmosfera, impactul asupra incalzirii globale ar fi de 675 ori mai mare decét 1 kg de CO2 pe o perioada de 100 de ani. Nu incercati sa interveniti in eﬁ_e or standard. I _on%urru rlea q € energie Ya epinde de modul de
circuitulagentuluifrigorificsausddemontatisingurprodusul,apelatiintotdeaunala unspecialist. utilizare a aparatuluisideloculunde este amplasat.
M3nyckaHeTo Ha XnaauneH areHT AonpuHacs 3a U3MEHEHVETO Ha knumata. XnaguneH areHT ¢ No-HUCHK noTeHuuan 3a rnobanHo 3atonnsHe (MM3) 6u gonpuHechn No-Manko 3a rnobanHoTo 3aTonnsHe, KoHcymaumsi Ha eHeprust "XYZ" B KWh/60 MuHyTH, Bb3 OCHOBa Ha
OTKOJIKOTO XMaZUreH areHT ¢ no-Bucok M3 npy eBeHTyanHo uanyckaHe B aTMocdepara. HacToswmaT ypes cbabpxka xnaavneH areHT ¢ M3 B pasmep Ha 675. ToBa 03HauaBa, 4e ako 1 kg oT xnagunHusa areHT | peayntaTu oT cTaHAapTHO u3nuTBaHe. [lencTBUTenHaTa KoHcyMaumus Ha
BG | 6bae usnycHat B aTMocdepata, Bb3[eiicTBMeTo 3a rnobarnHo aatonnsiHe e 6bae 675 nbTu noseye, oTkonkoTo oT 1 kg CO2 3a nepuop oT 100 roauHu. Hukora He ce onuTBaiiTe Aa ce HamecBaTe B paboTaTaHa | eHeprusi Lie 3aBUCK OT TOBa Kak Ce M3Mo3Ba ypeabT U Kbae ce
Kpbra Ha XnaguriHus areHTunu camuza pasrnobsisateypesa,a BUHaru ce obpbLiaiTekbMcneyuanmcT. Hamupa Ton.
Der Austritt von Kaltemittel tragt zum Klimawandel bei. Kaltemittel mit geringerem Treibhauspotenzial tragen im Fall eines Austretens weniger zur Erderwarmung bei als solche mit héherem Energieverbrauch "XYZ" kWh/60 Minuten, auf der Grundlage
DE | Treibhauspotenzial. Dieses Gerét enthalt Kéltemittel mit einem Treibhauspotenzial von 675. Somit hatte ein Austreten von 1 kg dieses Kaltemittels 675 Mal gré3ere Auswirkungen auf die von Ergebnissen der Normpriifung. Der tatsachliche Verbrauch hangt
Erderwarmungals1kgCO2,bezogenaufhundertiahre. KeineArbeitenamKaltekreislaufvornehmenoderdasGeratzerlegen—stetsFachpersonalhinzuziehen. von der Nutzungundvom Standort desGeréats ab.
Wyciekiczynnikéwchtodniczychprzyczyniajg siedozmianyklimatu.W przypadku przedostania sigdoatmosferyczynnikchtodniczyonizszymwspoétczynniku ocieplenia globalnego (GWP) mamniejszy wptyw na globalne Zuzycie energii elektrycznej "XYZ" kwh/60minut na podstawie wynikéw
ocieplenie niz czynnik o wyzszym wspoétczynniku GWP. Urzadzenie zawiera ptyn chtodniczy o wspotczynniku GWP wynoszacym 675. Powyzsze oznacza, iz w przypadku przedostania sig 1 kg takiego ptynu préby przeprowadzonej w normalnych warunkach. Rzeczywiste zuzycie
PL | chtodniczego do atmosfery, jego wptyw na globalne ocieplenie bytby 675 razy wiekszy niz wptyw 1 kg CO2 w okresie 100 lat. Nigdy nie nalezy samodzielnie manipulowa¢ przy obiegu czynnika chtodniczego lub energii elektrycznej zalezy od sposobu uzytkowania
demontowac¢ urzadzenia, nalezy zawsze zwr6cic¢ sig¢ 0 pomoc specjalisty. urzadzeniaimiejsca,wktérymsigonoznajduje.
Les fuites de réfrigérants accentuent le changement climatique. En cas de fuite, I''mpact sur le réchauffement de la planéte sera d'autant plus limité que le potentiel de réchauffement planétaire (PRP) du | consommation d'énergie de "XYZ" kWh/60 minutes, déterminée sur
réfrigérant est faible. Cet appareil utilise un réfrigérant dont le PRP est égal a 675. En d'autres termes, si 1 kg de ce réfrigérant est relaché dans I'atmosphére, son impact sur le réchauffement de la planéte sera la base des résultats obtenus dans des conditions d'essai
FR | 675 fois supérieur a celui d'1 kg de CO2, sur une période de 100 ans. Ne tentez jamais d'intervenir dans le circuit frigorifique et de démonter les piéces vous-méme et adressez-vous systématiquement a un normalisées. La consommation d'énergie réelle dépend des
professionnel. conditionsd'utilisationet del'emplacementdel'appareil.
Kylmaainevuodot vaikuttavat iimastonmuutokseen. Kylmaaineen, jolla on alhaisempi iimakehan lammitysvaikutuspotentiaali (GWP), iimastonmuutosvaikutus olisi pienempi kuin korkeamman GWP-arvon kylméaineen, jos £ iankul YZ' KWh/B0 minutti lask ki
kylmaainetta paasisi iimakehaan. Tama laite sisaltaa kylmaainetta, jonka GWP-arvo on 675. Tama tarkoittaa, ettd jos yksi kilo tata kylmaainetta paasisi ilmakehaén, sen vaikutus ilmaston lampenemiseen olisi Inergrl]z;mv u utusT asialli minu E | tas 9“}.’“3 val I'ct)t-
FI [ 675 kertaa suurempi kuin yhdellé kilolla hiilidioksidia 100 vuoden ajanjaksolla. Ala koskaan yrita kajota kylmaainepiiriin tai purkaa tuotettaominpain,vaanpyydaainaammattilaisenapua. olosunteissa. - Toslasialinen — energiankuiutus — riippuulaitieen
kayttotavoista ja laitteen sijoituksesta.
Lackage av kéldmedium bidrar till klimatférandringen. Kéldmedium med lagre global uppvarmningspotential (GWP) skulle vid lackare ge upphov till mindre global uppvarmning &n ett koéldmedium med hogre e . N W . 2
GWP. Den har apparaten innehéller ett koldmedium med GWP motsvarande 675. Det betyder att om 1 kg av kéldmediet skulle lacka ut i atmosfaren, skulle pverkan pa den globala uppvarmningen vara 675 ganger fEDergtlforc:Jru;mng d XYZ ! kWIE)/GOfmll(?uLer, basitag pka . resultall)t
SV | hogre &n 1 kg CO2 under en hundradrsperiod. Forsok aldrig sjalv monteraisér produkten eller mixtramed kéldmediekretsloppet. Radfraga alltidenfackutbildadperson. ran standardiserade provningar. Den laxliska energliororukningen - beror
pa hurapparaten anvands och var den placeras.
Kalemiddeludslip medvirker til klimaforandringerne. Slipper kalemidlet ud i atmosfeaeren, bidrager det mindre til den globale opvarmning, hvis dets potentiale for global opvarmning (GWP) er lavt, end hvis det er hgijt. Elforbrug "XYZ" kWh/60 minutter p& grundlag af
DA | Dette apparatindeholder en kglevaeske, hvis GWP-tal er 675. Det betyder, at laekkes 1 kg af dette kalemiddel til atmosfaeren, sa vil det gennem en periode pa 100 arbidrage 675 gange mere til den globale standardiserede prgvningsresultater. Det faktiske energiforbrug vil
opvarmningend 1 kg CO2. Prgv aldrig at pille ved kalemiddelkredslgbet eller at skille produktet ad selv - overlad altid det til en fagmand. afhaenge af, hvordan apparatetanvendes, og hvordeter placeret.
A hiitéfolyadék szivargasa hozzajarul a globalis felmelegedéshez. Minél kisebb egy hiitéfolyadék globalis felmelegedési potencialja (GWP-je), annal kevésbé jarul hozza a globalis felmelegedéshez, ha a Iégkorbe XY 7" KWH/E0 iaf 14 bvé izsgalati
keriil. A késziilékben talalhaté hiitéfolyadék GWP-je 675. Ez azt jelenti, hogy ha ebbdl a hiitéfolyadékbdl 1 kilogramm a légkorbe keriilne, akkor a globalis felmelegedésre 100 év alatt 675 szor/-szer/-szor akkora dménvek lpe_rg er;etrgla logyasz as S.Z? vanyoi w]z_sga a:(, ek
HU [ hatast gyakorolna, mint 1 kilogramm szén-dioxid. Ne prébaljon sajat kezlileg beavatkozni a hiitékorbe, és ne szedje szét sajat kezlilegaterméket!Eztafeladatotmindighizzaszakemberre! ereamenyex aiapjan. A tenyleges energialogyaszias 1ugg a keszule
elhelyezésétdl és hasznalatanak maodjatol.
Pusc¢anje hladilnih sredstev prispevak podnebnim spremembam. V primeruizpustavozracje bi hladilno sredstvo z nizjim potencialom globalnega segrevanja (GWP) k globalnemu segrevanju prispevalo manj kot Poraba energije "XYZ" na kWh / 60 minut na podlagi rezultatov
SL | hladilno sredstvo z vi§jim GWP. Tanaprava vsebuje hladilno tekocino z GWP, enakim 675. Topomeni, da bi bil v obdobju 100 let vpliv na globalno segrevanje v primeru izpusta v ozracje 1 kg zadevne hladilne standardnega preskusa. Dejanska poraba energije je odvisna od tega,
tekocCine 675 vecjiod 1kgCO2.Nikoli ne poskusajte samispremenitihladilnega obtoka ali razstavitinaprave inzatovedno prosite strokovnjaka. kako uporabljate pravo jezikovno lokacijo.
Kulmutusaine leke hoogustab kliima soojenemist. Atmosfaari sattumisel annab madalama tilemaailmset soojenemist péhjustava mdéju (GWP) vaartusega kilmutusaine vaiksema panuse ulemaailmsesse XYZ iatarbimine KWh / 60 minutit pdhineb méadetud
kliimasoojenemisse kui kérgema GWP vaartusega kiillmutusaine. Seade sisaldab kiilmutusvedelikku, mille GWP vaértus on 675. See tdhendab, et kui 1 kg seda kulmutusvedelikku satub atmosfaari, annab see e_n?rgt;_a ar |m|ne~~d tud t rlnlnu I'ploTlne I'TOD elu t Sltub
ET | 100 aasta jooksul 675 korda suurema panuse iilemaailmsesse klimasoojenemisse kui 1 kg CO2. Arge kunagi piiiidke ise muuta killmutusainevoolusiisteemi,samutirgepiiiidkeseadetisekoostlahtivétta, vaid energiatarbimisega moodetud tulemustel. Tegelik energiatarve soltu

pdodrdugealatispetsialistipoole.

seadme tiilibist ja asukohast.
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